Example
The QRDA 1 that we were getting for the Substance Administered data type in Cypress 2.1 looked like this:
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<entry>
  <act classCode="ACT" moodCode="EVN" >
    <!-- Medication, Administered template -->
    <templateId root="2.16.840.1.113883.10.20.24.3.42"/>
    <id root="1.3.6.1.4.1.115" extension="5143600c1d41c8d924000057"/>
    <code code="416118004" codeSystem="2.16.840.1.113883.6.96" codeSystemName="SNOMED CT" displayName="Administration"/>
    <statusCode code="completed"/>
    <effectiveTime xsi:type="IVL_TS">
      <low value='20120102120000'/>
      <high value='20120102123000'/>
    </effectiveTime>
    <entryRelationship typeCode="COMP">
      <substanceAdministration classCode="SBADM" moodCode="EVN">
        <!-- Medication Activity (consolidation) template -->
        <templateId root="2.16.840.1.113883.10.20.22.4.16"/>
        <id root="35882810-71f7-0130-60b6-000c29bdb3b9"/>
        <text>Substance, Administered: Breast Milk (Code List: 2.16.840.1.113883.3.117.1.7.1.30)</text>
        <statusCode code="completed"/>
        <effectiveTime xsi:type="IVL_TS">
          <low value='20120102120000'/>
          <high value='20120102123000'/>
        </effectiveTime>   
<!-- Attribute: dose -->
        <consumable>
          <manufacturedProduct classCode="MANU">
            <!-- Medication Information (consolidation) template -->
            <templateId root="2.16.840.1.113883.10.20.22.4.23"/>
            <id root="35884340-71f7-0130-60b6-000c29bdb3b9"/>
            <manufacturedMaterial>
              <code code="226789007" codeSystem="2.16.840.1.113883.6.96" sdtc:valueSet="2.16.840.1.113883.3.117.1.7.1.30"><originalText>Substance, Administered: Breast Milk (Code List: 2.16.840.1.113883.3.117.1.7.1.30)</originalText></code>
            </manufacturedMaterial>
          </manufacturedProduct>
        </consumable>
      </substanceAdministration>
    </entryRelationship>
    
  </act>
</entry>

The QRDA that we receive for Substance Administered in Cypress 2.2 looks like this (note the significant drop in complexity of the template as well as the change in template ID):

         <entry typeCode="DRIV">
            <act classCode="ACT" moodCode="EVN" isCriterionInd="true"><!-- Substance, Administered pattern --><templateId root="2.16.840.1.113883.3.560.1.64"/>
               <id root="d3d7d0ae-62d5-4800-a232-64f864b90c61"/>
               <code code="11320-9" displayName="Feeding and dietary status"
                     codeSystem="2.16.840.1.113883.6.1"/>
               <sourceOf typeCode="COMP">
                  <substanceAdministration classCode="SBADM" moodCode="EVN" isCriterionInd="true">
                     <title>Substance, Administered: Breast Milk</title>
                     <participant typeCode="CSM">
                        <roleParticipant classCode="MANU">
                           <playingMaterial classCode="MMAT" determinerCode="KIND">
                              <code code="2.16.840.1.113883.3.117.1.7.1.30"
                                    displayName="Breast Milk SNOMED-CT Value Set"
                                    codeSystem="2.16.840.1.113883.3.560.101.1"/>
                           </playingMaterial>
                        </roleParticipant>
                     </participant>
                  </substanceAdministration>
               </sourceOf>
            </act>
         </entry>

